CHAPTER 7
HOW HEAVY? HOW LIGHT?

Ques.1 The weight of each shape is given below. Find the total weight of given
combination. One is done for you.
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Ques.2 If weight of a square is same as the weight of two circles. Weight of a
triangle is same as the weight of the circle.Balance the following scales.
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How many circles do you need to
A balance the pan?
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How many triangles do you need to
balance the pan?
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Ques.3  Let us complete the bubbles
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Ques.4  Which pan of the balance will go down? Show by drawing an arrow. One is
done for you.
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5 kg 4 kg 7 kg 7.5 kg
900 kg 400 g



Ques.5 Colour the leaf that show the value of underlined weight in the trunk of the

Ques.6 Complete the tower as shown in the example.

A)

tree.
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13 kg +5 kg

- 12 kg + 3.5 kg
10 kg +500 g
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2 kg

900 g

1.1kg

600 g

300 g

800 g

4 kg

700 g

6 kg
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9 kg

2 kg

4 kg




Ques.7 Arrange the yveight in ascending order.
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1. 750g, 7kg, 8509, 6kg
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2. 25g, 25kg, 2.5g, 2.5kg
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Ques.8 Look at the weight of these balls.
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The red ball =100 g.
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The blue ball =1 kg
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Now, write the weight of the given objects by adding the weight of the balls on the scale.
The first one is done for you.
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100 g + 100 g + 100 g = 300 g.
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Ques.9 Choose the right unit.
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Litre, Kilogram, Meter, Kilometer
ey, fepoTiume, Hiex, fhorHie

V)

milk

tonned

Ques.10 Paste 5 pictures each of the things j[hat we buy in kilogram find in grams
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ANSWERS

Ans.1
a) 169
R&U™H
b) 15¢g
UWIATH

Ans.2
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a) 700
\9oo
b) 360
3%o

Ans.4

a) Pan 1 will go down.
qeTel & I ST |
b) Pan 2 will go down
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Ans.5

14.5 kg
A) +500 g
900g
B) +100 g

Ans.6




A)

B)

Ans.7

11.4 kg
4.7 kg 6.7 kg
4 kg 700 g 6 kg
17 kg
11 kg 6 kg
9 kg 2 kg 4 kg

a) 6Kkg, 7 kg, 750 g, 850 g.

& foretiumd, o ToRetiumd, Who U, ¢4o U |
b) 2.5¢g, 25 g, 2.5 kg, 25 kg.
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Ans.8

a) 1kg+100g+100g=1Kkg200g.
¢ Tohel + 200 TTH, Qo0 UTH ,= ¢ Tohedl 00 UTH |

b) 1kg+1kg+100g=2kg 100 g.

Q Toredt + & fohedt + Qoo UTH, = 3feheAt Qoo UTH |




Ans.9

a) Liter
giced

b) Kilograms
Toetrum |

¢) Kilometer
Caciticed

d) Meters
Hrex |

e) Liter

e |

Ans.10 Do it your sglf.
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